STOCK SPRINGS.
FRARTV L AMR

"% 8 SUS304-WPB
ENEH 5% (PM5:00% T2i304) ]

RoHS

HEE

RUVERICKZIRIDEHBLLE

[ Lo
2 igiEE
HWELZOY J#UIRUDER

MYIUN QSN R S R .

w @ : @ ® @
W. = &
HRBITORFEBRIFT,

I oy & B "B E & mm fiits M
§zjun§? 1@}33*/ mm mm 1 2 1 ﬁ)\%& 14 553
91-0001 M5x0.8 (6.0) 0.8 15 20 10 2,800 2,400
91-0002 M6x1.0 (7.5) 1.0 18 23 10 3,000 2,600
91-0003 | M8x1.25 (10) 1.2 27 27 10 3,300 2,800
91-0004 | M10%1.5 (12) 1.4 25 30 10 3,600 3,000
91-0005 | M12x1.75 (14) 1.6 35 40 10 3,900 3,300
91-0006 | M16%2.0 (19) 2.0 40 45 10 4,200 3,600

1 TEEEINDIBE. WA IR TR

STOCK SPRINGS.

FRARAT VL AMR

SUS304-WPB
EPE 3% (PM5: 00 T ~ 1 8RS

Li

L2

wae 2 | @D
HSBITTORFRERIET,
moms B (91[:nni§) ﬁ?ﬂ;% ﬁﬁrﬁn L1 E&i&ﬁq L2 14570 — it M —
F7301 115 30
e M-3 (3.5) 0.4 o e 10 2,400 2,000
F7303 20 40
F7304 M-4 (4.9 0.6 T = 10 2,600 2,200
F7305 25 50
F7306 M-5 6.0) 0.7 35 65 10 2,800 2,400
F7307 30 60
F7308 M-6 (7.5) 0.9 40 75 10 3,000 2,600
F7309 35 70
F7310 M-8 9.7) 1.0 ik - 10 3,300 2,800
F7311 40 80
F7312 M-10 (12.0) 1.2 ER SE 10 3,600 3,000
TSI TAREMMIETT

ATV TRy M ES
EEN D >TRFE S

www.spring-net.com

129




AZUyoo-ier

STOCK SPRINGS.

ATFVLA

el SUS420J2 AR C & BIE3 1%
T ®m B | 14w | 58~

fE51%= lil:Ed 15%
BENEH 3% (PM5:00% TasE304) *]

NS —ONNCN N .

%9) 1S ARIOHRIERETS
[=]sa} 2
O:}:Mq
L
KDDBATAFEOMAE LICHIFDRAMBEL. DOS/IVTEF1/3(D1+D2+D3)ET B, HRBUTORFEBIET . B4 mm
E U & 1.6 2 2.5 3 3.5 4 4.5 5 6
EPEY- IS 1.8 2.25 2.75 3.25 3.9 4.4 4.9 5.4 6.4
D ET 1.7 2.15 2.65 3.15 3.7 4.2 4.7 5.2 6.2
t 5= 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1 1.2
—EUAKEE| kN 1.68 2.76 4.31 6.2 8.45 10.8 13.96 | 17.25 | 24.83
E x |BRARXE| 16 7] 2.5 3 35 4 4.5 5 6
S E 5 o= +8.08 +8.09 +8.12
% @ # = | R1608 | R2008 - ~ ~ ~ ~ ~ —
815211 & A #| 500 400 - - - - - - -
1 % f 4| 1,500 | 1,400 - - - - - - -
% & & = | R1610 | R2010 | R2510 | R3010 - - - - -
1075211 & A # | 500 400 400 300 - - - - -
1 % f 4| 1,500 | 1,500 | 1,700 | 1,600 - - - - -
_|® ® & S| Ri612 [ R2012 [ R2512 | R3012 | Ra512 - - - -
124 |1 & A &| 400 400 300 250 250 - - - -
|1 % @ | 1500 | 1700 | 1,500 | 1,500 | 1,600 - - - -
H@mES R1614 R2014 R2514 R3014 R3514 R4014 = = =
14 |1 & A ®| 400 300 300 250 250 200 - - -
" |1 s @ | 1500 | 1,400 | 1,600 | 1,600 | 1700 | 1,500 - - -
% z & = | R1616 | R2016 | R2516 | R3016 | R3516 | R4016 | R4516 = -
16 %) |1 & A #| 400 300 300 250 200 200 200 - E
1 % ffi 4| 1,500 | 1,500 | 1,700 | 1,700 | 1,500 | 1,600 | 1,700 -~ -
BEES - R2018 | R2518 | R3018 | R3518 | R4018 | R4518 | R5018 -
181 |18 A & - 300 250 200 200 200 150 150 -
"lisme - 1,600 | 1,600 | 1,500 | 1,600 | 1,700 | 1,400 | 1,500 -
B E S = R2020 | R2520 | R3020 | R3520 | R4020 | R4520 | R5020 | R6020
208 (18 A & - 300 250 200 200 150 150 150 100
"lis @ - 1,700 | 1,700 | 1,500 | 1,600 | 1,400 | 1,500 | 1,600 | 1,300
B E S - - R2525 | R3025 | R3525 | R4025 | R4525 | R5025 | R6025
257 |1 & A & - - 200 200 150 150 150 100 100
1% 4 - - 1,600 | 1,800 | 1,400 | 1,500 | 1,600 | 1,200 | 1,300
HEE S - - - - - R4030 | 3%R4530 | R5030 | R6030
307 |1 & A - - - - - 150 100 100 75
1% 4B - - - - = 1,700 | 1,200 | 1,300 | 1,600
HEE S - - - - - - R4536 | R5036 | R6036
367 |1 % A K - - - - - - 100 75 50
1% i 4 - - - - - - 1,400 | 1,500 | 1,300
B ES - - - - - - - R5045 | R6045
451 |1 ®m A % - - - - - - - 50 50
1 4% i 4 - - - - - - - 1,200 | 1,700

#RAS30(SFEERER T . TEED RGBT LIRUET,
1 TEEREINDIBE . WA IR AR
FfliAEEE THRFMHETT .

130



